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AT AL I (e I

Group - A
oo - =
1. Answer any ten questions from the following
@ @ wift 2ea Tex A
a) What is G.N.P. ?
T Ty B fF 2
b) Define transfer income.
I AT HL&] e |
c) What is High Powered Money ?
e T8 @ief 3 7

d) What do you mean by M,and M,?

M, ¢ M, %10e & @E 2

€) What is Induced Investment ?

eirefes v & 2

f) What will be the value of MPS if MPC is § ?

2

mﬁﬂmmmgfﬁmﬁwwmmmﬂWW?

g) What is meant by 'Effective demand' ?

‘A sifEw’ <e e ¢ @R 2
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h) What is 'Open market operation' ?

QT AGR PIRAE ICP IE ?
i) What do you mean by the term 'full employment' ?

‘oief e s *=Ao Aze e |

1) What do you mean by 'cost push inflation' ?
RfEGe e 2

k) Write two main causes of inflation.
WreIfea v ewm @ B 1

1) What is protection ?
SR PP ACET 2

m) What do you understand by 'Say's Law' ?
‘Say-a3 [{f 7e1e f@ @A 2

n) What is Free trade ?

& MW IS T 2

Group - B
fFert - ¢
Answer any five questions. Sx 16 =80
@ @ A6fS e e T
2. Define Multiplier. Explain necessary assumptions and the method of determination of
value of Investment multiplier. 4+4+8
QPR @ a7 | R 97 ey =6 8 Gy W f~fiae effemn i w1
3. Explain the process of credit creation by commercial banks. Explain the limitations of
this process. 12 +4
e MTET SANAS FJoH *i@fS WM FFA | 93 HfFIR FNRTea SEnA T |
4. What is 'velocity of circulation of money' ? Explain ‘Cambridge' version of Quantity
theory of money. What are its limitations ? 3+9+4
T Ao oifo & 2 YR ofqwe ogw @RS’ ot wEnA IEN1 @8 e ANRES
fo e o
S. Critically explain 'Classical theory of employment'.

st e FiFeE oEftr’ AT WA 56 |
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What do you mean by Marginal Efficiency of capital ? Discuss the factors determining
Marginal Efficiency of capital. State the relation between Marginal Efficiency of capital

and interest rate. 3+8+5
U ITIYT w0l W00 [ (@AW 2 AT IS w0l RS AR SEABA I | {4
1fIT ol @ AT R FoE A |

Define Inflation. Explain the effects of Inflation. Analyse the Monetary measures in

controlling inflation. 2+8+6

ERTeR e e | qurifon aree e o 2 Erdife g e aEmsgg e o |

Distinguish between Internal and Extermal public debt. Explain the burden of public
debt. 6+ 10

A @ ATy FIFIR AT AL I | TR A @RI PO AT 6+ |
Explain Adam Smith's theory of Absolute advantage as the basis of International
Trade. What are the basic differences between Adam Smith's theory of 'Absolute

advantage' and Ricardo's theory of '‘Comparative Cost advantage' ? 10 +6

efes forena fefe ZAnT Som e 549 A <A1 et A 41 @2 Afex A
Rea10STa "ERIETE B SR ogfo 3o ndmelt e s |

Discuss the main functions of central bank.

(TR ET AN FIfe] EAAT T |

Write short notes (any two) : 8+8
A B fer (@ o1 7i% )
a) Direct and indirect taxes
TOIF 8 HEATF 1
b) Consumption function
((SRAV T
c) Difficulties in the measurement of National Income
GO W /e s

d) Gains from International Trade.
Egfos riien (¥ Ae |
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AR TS 2l @es |
Group - A
1. Answer any ten questions from the following :

a)

b)

g)

h)

State two major characteristics of Indian economy.

oo weAlex it s (FET Siay T

Give two examples of indirect tax.

MRTF A 95 Twzaet fae |

Mention two causes of limited impact of green revolution.

SRS e A9 e e 4o oae Sim 394 |

Mention two major objectives of industrial licensing policy.

férsr SRSt Ao wfb 47 Sowet Sy T |

Mention two objectives of Eleventh Plan in India.
TR @M= 2RI (6 STl Gy I |
Distinguish between foreign debt and foreign aid.
CITTT=1T el @ (AP SFRIENE WS A1y ol et |
What is fiscal deficit ?

G Qo IS T 2

What do you mean by marketable surplus ?

ReEawIsy Tge IoT0e P @R 2

[ Full Marks : 100

10 x2 =20
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i) What is cooperative farming ?
SR b 2
j) Mention two causes of industrial sickness.

fre1 o it IR Simy I |

k) Mention two reasons of income inequality in India.

G0 AT (AR Yo I T 3 |
1) What is the population in India as per Census of 2011 ?

2011 ATER AWNE] SAN ORI TR TO 2
m) What is foreign capital ?

e e e 2
n) What is meant by cottage industry ?
gfow P e 76 2
Group - B
T ) O
Answer any five questions. 5x 16 =80

Define Poverty line. Discuss the measures taken by Government of India to eradicate

poverty. State your judgement on the success of those measures. 2+8+6

wiREr @ TS T @R 2 ORT TR IGe o wRE q@ete Fplef o SiEn
T | @8 LI AILTO Tt A TOTS @ B |

What are the objectives of Land Reform in India ? What are the measures taken to

fulfill those objectives and what has been the result of these initiatives ? 4+ 12
OIS YRPIFTER oW Srashafe 6 2 @3 o oo 6 5 39 979 w91 Ty @3t @3 weea
fo 2wz 2

Analyse the impact of population growth on Indian economic development.

©I0ed AT SRER To GIRan g eer R wwe |

Examine the causes of low productivity in Indian agriculture.

Discuss the credit control policy of Reserve Bank of India (RBI).

OO oS arE-aq A9 fRage rafosia Q@A FE |
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7.

10.

What are the problems of financing in case of small scale industries in India ?
Discuss, in brief, the activities of the main institutional sources of finance for the

small scale industries. 8+8
ORTS FaHe e SRHET Pt 6 496 TP (R W 2 RN’ FoE IYHeREd edW

s Sevafim wrfiafer serwe wmEnT v |
Discuss the relative importance of direct and indirect taxes in Indian tax structure.

TSI T PO ATTF G EF FEY W S o7 T3 5 |
What is foreign aid ? How foreign aid may contribute to Indian economic

development ? 4+ 12

REER AR F 2 Ored I Ao ST Q@S HNRITA g 6 2
Briefly discuss the measures taken to increase exports of India in the post-

liberalisation period.
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